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 : اختاري الإجابة الصحيحة فيما يلي  (1

1 
20 , 16 , 11 , 5 , -2 , -10 , …..

A 20 B -20C 19 D -19 

2 
1 , 2 , 4 , 8 , 16 , …..

A 32 B 30 C 22 D 20 

3 
10 , 4 , -2 , -8  , ….. 

A -10 B -14 C 16 D 18 

4
A B C D 

5
n–n

A n = -1 B n = 2C n = 3D n = 4
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pq20p  q 
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A 78 B 46 C 20 D 12 
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A 78B 46C 20 D 12 

10 

A 78B 46C 20 D 12 
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A  B  C  D  

12 
A B C D 
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A B C 
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16 
p → qpq

A B  C  D  

17 
, q → r p → qp → r

A  B  C  D  

 

18 
A  B  C  D  

19 
A  B  C  D  
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a = a
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B 
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D 
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5 = yy = 5
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C 
 

D 
 

22 

x = 5b = 5x = b
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B 
 

C 
 

D 
 

23 

 B ∠ A = m ∠  mC ∠ B = m ∠ m C ∠ A = m ∠ m

A 
 

B 
 

C 
 

D 
 

24 

a + 10 = 20a = 10

A B 
 

C 
 

D 
 

25 

4 x – 5 = x + 124 x = x + 17
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C 
 

D 
 



 

 

4 

 

26 
A , B , CBAC

A AB+BC=AC B AB+AC=BC C AC+BC=AB D AB+BA=AC

27 

𝐀𝐁𝐀𝐁 
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B 
 

C 
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28 

𝐂𝐃𝐀𝐁𝐀𝐁𝐂𝐃
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B 
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29 

 𝐄𝐅𝐂𝐃, 𝐂𝐃𝐀𝐁𝐄𝐅𝐀𝐁 
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B 
 

C 
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   m ∠ PQS  m ∠ PQR + m ∠ RQS= 

A 
R

  RQP∠
B 

R

  RQS∠ 
C 
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 PQR∠ 
D 

R

  PQS∠

31 

21  ∠ ∠32  ∠ ∠31  ∠ ∠
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64


m ∠ 1 =m ∠ 2 =

A 26


 B 30


 C 64


 D 116

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64


m ∠ 1 =m ∠ 2 =

A 26


 B 30


 C 64


 D 116


 

34 
64


m ∠ 1 =m ∠ 3 =

A 26


 B 30


 C 64


 D 116


 



 

 

5 

35 

26


, m ∠ 3 = 72


m ∠ 1 =

m ∠ 2 =

 

A 26


B 72


 C 88


 D 154


 

36 

26


, m ∠ 3 = 72


m ∠ 1 =

m ∠ 4 =

 

A 26


B 72


 C 88


 D 154


 

 :  أكملي العبارات التالية بما يناسبها  (2




 



p  T p

p  F p

p 9 + 5 = 14q31p  q

p 9 + 5 = 14rp  r

q 31rq  r

p r

p  r



p  q qqp 

FTT 

FT

TF

FF
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0


90






1

2

3

312

1
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312
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312
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3

312







M𝐀𝐁

A , B , C, D A , B , CN

A , B , DN 

𝐁𝐄      𝐀𝐂       B
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

mFGEm

PQm 

𝐄𝐅𝐂𝐃y = 8  

𝐌𝐉, 𝐊𝐉 𝐍𝐌𝐋𝐊𝐍𝐉𝐋𝐉 

 









(1(1

(2 (2

(33 y – 9 = 15 (3

(4 (4

(5 3 y = 24 (5 

(6 (6 

(7 (7 

(1𝐌𝐉, 𝐊𝐉 𝐍𝐌𝐋𝐊(1

(2 (2

(3LK + KJ = NM + MJ (3

(4
 

(4

(5 LJ = NJ (5 

(6 𝐍𝐉𝐋𝐉(6 
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





 m ∠ 10 = x – 24 , m ∠ 9 = 3x + 12 

x

=  m ∠ 9

=  m ∠ 10

 m ∠ 2 =  2 x + 10 , m ∠ 1 = 70  

x

=  m ∠ 2

 m ∠ 4 =  113  , m ∠ 3 = 2 x + 23  

x

=  m ∠ 3




